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Q.1 6 डिब्बे B1, B2, B3, B4, B5 और B6 एक के  ऊपर एक रखे हुए हैं लेकिन जरूरी नहीं कि इसी क्रम में हों। B4
को शीर्ष से दू सरे  स्थान पर रखा गया है। B1 के  नीचे के वल दो डिब्बे रखे गए हैं। के वल B5 को B2 के  नीचे रखा
गया है। B6 को B3 से ऊपर रखा गया है। डिब्बा B2 के  ठीक ऊपर कौन रखा गया है?

Ans 1. B6

2. B3

3. B1

4. B2

Question ID : 630680372479
Option 1 ID : 6306801451208
Option 2 ID : 6306801451207
Option 3 ID : 6306801451210
Option 4 ID : 6306801451209

Status : Answered
Chosen Option : 1

Q.2 एक विशिष्ट कोड भाषा में, ‘ZANB’ को ‘6052’ लिखा जाता है, ‘BADM’ को ‘2863’ लिखा जाता है, ‘OPEZ’
को ‘4517’ लिखा जाता है। इस कोड भाषा में ‘N’ का कोड क्या है?

Ans 1. 5

2. 6

3. 0

4. 2

Question ID : 630680372485
Option 1 ID : 6306801451231
Option 2 ID : 6306801451234
Option 3 ID : 6306801451233
Option 4 ID : 6306801451232

Status : Not Answered
Chosen Option : --
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Q.3 निम्नलिखित प्रश्न में दिए गए विकल्पों में से संबंधित अक्षरों को चुनिए।
EI : DG :: UX : ?

Ans 1. TV

2. GT

3. ZO

4. MS

Question ID : 630680372487
Option 1 ID : 6306801451242
Option 2 ID : 6306801451241
Option 3 ID : 6306801451239
Option 4 ID : 6306801451240

Status : Answered
Chosen Option : 4

Q.4 नीचे दिए गए प्रश्न में कु छ कथन और उनके  बाद उन कथनों पर आधारित कु छ निष्कर्ष दिए गए हैं। दिए गए कथनों
को सही माने, चाहे उनमें सामान्य ज्ञात तथ्यों से भिन्नता हो। सभी निष्कर्ष पढ़ें और फिर निर्धारित करें  कि दिए गए
कौन से निष्कर्ष, दिए गए कथनों के  आधार पर युक्तिसंगत हैं।
कथन:
I. सभी एक छः है।
II. कु छ छः सात हैं।
निष्कर्ष:
I. कु छ सात एक नहीं हैं।
II. कोई भी छः एक नहीं है।
III. कु छ छहः सात नहीं हैं।

Ans 1. सभी निष्कर्ष अनुसरण करते हैं

2. कोई भी निष्कर्ष अनुसरण नहीं करता है

3. दोनों निष्कर्ष I तथा III अनुसरण करते हैं

4. के वल निष्कर्ष II अनुसरण करता है

Question ID : 630680372481
Option 1 ID : 6306801451217
Option 2 ID : 6306801451216
Option 3 ID : 6306801451215
Option 4 ID : 6306801451218

Status : Not Answered
Chosen Option : --

Q.5 निम्नलिखित प्रश्न में दी गई श्रृंखला में से लुप्त अंक ज्ञात कीजिए।
180, 184, 176, 188, 172, ?

Ans 1. 190

2. 192

3. 191

4. 188

Question ID : 630680372494
Option 1 ID : 6306801451267
Option 2 ID : 6306801451270
Option 3 ID : 6306801451268
Option 4 ID : 6306801451269

Status : Answered
Chosen Option : 2
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Q.6 यदि ‘–’ का अर्थ ‘÷’, ‘÷’ का अर्थ ‘×’, ‘×’ का अर्थ ‘+’ तथा ‘+’ का अर्थ ‘–’ हो, तो 40 – 4 ÷ 6 + 50 × 100 =?

Ans 1. 110

2. 90

3. 100

4. 120

Question ID : 630680372498
Option 1 ID : 6306801451286
Option 2 ID : 6306801451284
Option 3 ID : 6306801451285
Option 4 ID : 6306801451283

Status : Answered
Chosen Option : 1

Q.7 नीचे दिए गए पांच तीन अक्षरों वाले शब्दों पर विचार करें  और उनके  आधार पर प्रश्नों के  उत्तर दें।
(बायां) YEU GYC WYE AWK IAY (दायां)
दाएँ  छोर से तीसरे  शब्द के  बायीं ओर दू सरे  शब्द का पहला अक्षर कौन सा होगा?

Ans 1. I

2. E

3. G

4. A

Question ID : 630680372484
Option 1 ID : 6306801451229
Option 2 ID : 6306801451230
Option 3 ID : 6306801451227
Option 4 ID : 6306801451228

Status : Answered
Chosen Option : 1

Q.8 नीचे दिए गए प्रश्न में, चार अक्षर युग्म दिए गए हैं। (–) के  बायीं ओर दिये गये अक्षर (–) के  दायीं ओर दिये गये
अक्षर से किसी तर्क /नियम/संबंध से संबंधित है। तीन उसी एक तर्क /नियम/संबंध के  आधार पर समान हैं। दिए गए
विकल्पों में से विषम को चुनिए।

Ans 1. DKPJ – GNSN

2. BQMV – ETPY

3. LAWF – ODZI

4. VKGP – YNJS

Question ID : 630680372490
Option 1 ID : 6306801451252
Option 2 ID : 6306801451254
Option 3 ID : 6306801451251
Option 4 ID : 6306801451253

Status : Answered
Chosen Option : 3
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Q.9 एक अनुक्रम दिया गया है, जिसमें से एक पद लुप्त है। दिए गए विकल्पों में से वह सही विकल्प चुनिए, जो अनुक्रम
को पूरा करे ।
MNOP, TSXA, AXGL, HCPW, ?

Ans 1. PQRT

2. OHYH

3. ONRT

4. OMNO

Question ID : 630680372483
Option 1 ID : 6306801451223
Option 2 ID : 6306801451224
Option 3 ID : 6306801451226
Option 4 ID : 6306801451225

Status : Not Answered
Chosen Option : --

Q.10 नीचे दिए गए प्रश्न में कु छ कथन और उनके  बाद उन कथनों पर आधारित कु छ निष्कर्ष दिए गए हैं। दिए गए कथनों
को सही माने, चाहे उनमें सामान्य ज्ञात तथ्यों से भिन्नता हो। सभी निष्कर्ष पढ़ें और फिर निर्धारित करें  कि दिए गए
कौन से निष्कर्ष, दिए गए कथनों के  आधार पर युक्तिसंगत हैं।
कथन:
I. सभी जानवर पक्षी हैं।
II. सभी पक्षी बिल्ली हैं।
निष्कर्ष:
I. कु छ पक्षी बिल्ली हैं।
II. कु छ बिल्ली जानवर नहीं हैं।

Ans 1. के वल निष्कर्ष II अनुसरण करता है

2. दोनों निष्कर्ष I तथा II अनुसरण करते हैं

3. के वल निष्कर्ष I अनुसरण करता है

4. कोई भी निष्कर्ष अनुसरण नहीं करता है

Question ID : 630680372480
Option 1 ID : 6306801451212
Option 2 ID : 6306801451213
Option 3 ID : 6306801451211
Option 4 ID : 6306801451214

Status : Not Answered
Chosen Option : --

Q.11 निम्नलिखित प्रश्न में दी गई श्रृंखला में से लुप्त अंक ज्ञात कीजिए।
0.5, 3, 10, 26, 60, ?

Ans 1. 120

2. 130

3. 125

4. 115

Question ID : 630680372495
Option 1 ID : 6306801451271
Option 2 ID : 6306801451273
Option 3 ID : 6306801451274
Option 4 ID : 6306801451272

Status : Not Answered
Chosen Option : --
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Q.12 6 खिलाड़ी R1, R2, R3, R4, R5 और R6 सोमवार से शनिवार तक सप्ताह के  6 अलग-अलग दिनों में दौड़ते हैं।
कोई भी दो खिलाड़ी एक ही दिन नहीं दौड़ते। R5 और R6 के  बीच के वल एक खिलाड़ी दौड़ता है। कोई भी
खिलाड़ी R3 के  पीछे नहीं दौड़ता. R3 और R6 के  बीच के वल एक खिलाड़ी दौड़ता है। R5, R6 से पहले और R1
के  बाद चलता है। R4, R6 से पहले चलता है। पहले दिन कौन सा खिलाड़ी दौड़ता है?

Ans 1. R3

2. R2

3. R1

4. R5

Question ID : 630680372478
Option 1 ID : 6306801451203
Option 2 ID : 6306801451204
Option 3 ID : 6306801451206
Option 4 ID : 6306801451205

Status : Answered
Chosen Option : 1

Q.13 नीचे दिए गए प्रश्न में कु छ कथन और उनके  बाद उन कथनों पर आधारित कु छ निष्कर्ष दिए गए हैं। दिए गए कथनों
को सही माने, चाहे उनमें सामान्य ज्ञात तथ्यों से भिन्नता हो। सभी निष्कर्ष पढ़ें और फिर निर्धारित करें  कि दिए गए
कौन से निष्कर्ष, दिए गए कथनों के  आधार पर युक्तिसंगत हैं।
कथन:
I. कु छ कै रम, सफे द हैं।
II. सभी लाल, कै रम हैं।
निष्कर्ष:
I. कु छ लाल, सफे द नहीं हैं।
II. कु छ कै रम, लाल नहीं हैं।
III. कु छ लाल, कै रम नहीं हैं।

Ans 1. दोनों निष्कर्ष I तथा II अनुसरण करते हैं

2. सभी निष्कर्ष अनुसरण करते हैं

3. कोई भी निष्कर्ष अनुसरण नहीं करता है

4. दोनों निष्कर्ष II तथा III अनुसरण करते हैं

Question ID : 630680372493
Option 1 ID : 6306801451264
Option 2 ID : 6306801451266
Option 3 ID : 6306801451265
Option 4 ID : 6306801451263

Status : Not Answered
Chosen Option : --

Q.14 11.12% of 485.96 + 7.68% of 195.1 का सन्निकट मान क्या है?

Ans 1. 88

2. 119

3. 41

4. 69

Question ID : 630680372496
Option 1 ID : 6306801451277
Option 2 ID : 6306801451275
Option 3 ID : 6306801451278
Option 4 ID : 6306801451276

Status : Not Answered
Chosen Option : --
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Q.15 4 × (13.006)2 ÷ [140.99 + 28.97] का सन्निकट मान क्या है?

Ans 1. 169

2. 13

3. 52

4. 4

Question ID : 630680372497
Option 1 ID : 6306801451279
Option 2 ID : 6306801451282
Option 3 ID : 6306801451280
Option 4 ID : 6306801451281

Status : Answered
Chosen Option : 4

Q.16 सात लड़कें  P, Q, R, S, T, U तथा V एक पंक्ति में उत्तर की ओर मुख करके  बैठे  हुए हैं (जरूरी नहीं की इसी क्रम
में हो)। R, S के  तुरंत दायीं ओर है। Q किसी एक छोर पर है। T, Q का निकटतम पड़ोसी है। के वल V, T तथा U
के  मध्य बैठा हुआ है। के वल S, R तथा U के  मध्य बैठा हुआ है।निम्नलिखित में से कौन सा/से कथन सही है/हैं?
I. U, T के  दायीं ओर दू सरे  स्थान पर है।
II. S, T के  दायीं ओर तीसरे  स्थान पर है।

Ans 1. के वल I

2. I तथा II दोनों

3. ना ही I ना ही II

4. के वल II

Question ID : 630680372477
Option 1 ID : 6306801451199
Option 2 ID : 6306801451201
Option 3 ID : 6306801451202
Option 4 ID : 6306801451200

Status : Answered
Chosen Option : 4

Q.17 निम्नलिखित प्रश्न में दिए गए विकल्पों में से विषम अक्षर/अक्षरों को चुनिए।

Ans 1. HKN

2. EHK

3. MPR

4. RUX

Question ID : 630680372489
Option 1 ID : 6306801451249
Option 2 ID : 6306801451247
Option 3 ID : 6306801451250
Option 4 ID : 6306801451248

Status : Answered
Chosen Option : 3
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Q.18 निम्नलिखित प्रश्न में दिए गए विकल्पों में से संबंधित अक्षर युग्म को चुनिए।
IMQ : KOS :: ?

Ans 1. HVH : ALU

2. NDC : NDP

3. NRV : PTX

4. VSB : AMP

Question ID : 630680372488
Option 1 ID : 6306801451244
Option 2 ID : 6306801451243
Option 3 ID : 6306801451245
Option 4 ID : 6306801451246

Status : Answered
Chosen Option : 3

Q.19 नीचे दिए गए प्रश्न में कु छ कथन और उनके  बाद उन कथनों पर आधारित कु छ निष्कर्ष दिए गए हैं। दिए गए कथनों
को सही माने, चाहे उनमें सामान्य ज्ञात तथ्यों से भिन्नता हो। सभी निष्कर्ष पढ़ें और फिर निर्धारित करें  कि दिए गए
कौन से निष्कर्ष, दिए गए कथनों के  आधार पर युक्तिसंगत हैं।
कथन:
I. कु छ P, A हैं।
II. सभी R, A हैं।
निष्कर्ष:
I. कु छ A, P हैं।
II. कु छ R, P नहीं हैं।
III. कु छ P, A नहीं हैं।

Ans 1. के वल निष्कर्ष I अनुसरण करता है

2. सभी निष्कर्ष अनुसरण करते हैं

3. के वल निष्कर्ष II अनुसरण करता है

4. दोनों निष्कर्ष II तथा III अनुसरण करते हैं

Question ID : 630680372492
Option 1 ID : 6306801451259
Option 2 ID : 6306801451261
Option 3 ID : 6306801451262
Option 4 ID : 6306801451260

Status : Not Answered
Chosen Option : --
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Q.20 नीचे दिए गए प्रश्न में कु छ कथन और उनके  बाद उन कथनों पर आधारित कु छ निष्कर्ष दिए गए हैं। दिए गए कथनों
को सही माने, चाहे उनमें सामान्य ज्ञात तथ्यों से भिन्नता हो। सभी निष्कर्ष पढ़ें और फिर निर्धारित करें  कि दिए गए
कौन से निष्कर्ष, दिए गए कथनों के  आधार पर युक्तिसंगत हैं।
कथन:
I. कु छ R, B हैं।
II. सभी N, B हैं।
निष्कर्ष:
I. कु छ B, R हैं।
II. कु छ B, N हैं।
III. कोई भी R, N नहीं है।

Ans 1. दोनों निष्कर्ष II तथा III अनुसरण करते हैं

2. के वल निष्कर्ष I अनुसरण करता है

3. दोनों निष्कर्ष I तथा II अनुसरण करते हैं

4. सभी निष्कर्ष अनुसरण करते हैं

Question ID : 630680372491
Option 1 ID : 6306801451256
Option 2 ID : 6306801451255
Option 3 ID : 6306801451257
Option 4 ID : 6306801451258

Status : Not Answered
Chosen Option : --

Q.21 उस विकल्प का चयन करें  जो पांचवी संख्या समूह से उसी प्रकार संबंधित है जिस प्रकार दू सरी संख्या समूह पहली
संख्या समूह से संबंधित है तथा चौथी संख्या समूह तीसरी संख्या समूह से संबंधित है।
9 : 144 :: 21 : 576 :: 2 : ?

Ans 1. 8

2. 4

3. 25

4. 2

Question ID : 630680372500
Option 1 ID : 6306801451292
Option 2 ID : 6306801451291
Option 3 ID : 6306801451294
Option 4 ID : 6306801451293

Status : Answered
Chosen Option : 1

Q.22 छह लड़कें  L, M, N, W, X तथा Y कें द्र के  विपरीत मुख करके  एक वृत्ताकार मेज के  इर्द-गिर्द बैठे  हुए हैं (जरूरी
नहीं की इसी क्रम में हो)। L, M तथा N दोनों का निकटतम पड़ोसी है। W, X तथा Y दोनों का निकटतम पड़ोसी
है। M, X के  तुरंत दायीं ओर है। N के  दायीं ओर दू सरे  स्थान पर कौन है?

Ans 1. W

2. M

3. X

4. Y

Question ID : 630680372476
Option 1 ID : 6306801451195
Option 2 ID : 6306801451196
Option 3 ID : 6306801451197
Option 4 ID : 6306801451198

Status : Not Answered
Chosen Option : --
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Q.23 एक विशिष्ट कोड भाषा में, ‘CAMP’ को ‘9804’ लिखा जाता है, ‘DOEP’ को ‘7925’ लिखा जाता है, ‘SAME’
को ‘8743’ लिखा जाता है। इस कोड भाषा में ‘S’ का कोड क्या है?

Ans 1. 4

2. 7

3. 3

4. 8

Question ID : 630680372486
Option 1 ID : 6306801451236
Option 2 ID : 6306801451238
Option 3 ID : 6306801451237
Option 4 ID : 6306801451235

Status : Answered
Chosen Option : 4

Q.24 किन दो चिह्नों को आपस में परस्पर बदलने पर समीकरण सही हो जाएगा?
16 ÷ 5 × 10 + 12 – 7 = 13

Ans 1. – तथा +

2. ÷ तथा ×

3. ÷ तथा +

4. + तथा –

Question ID : 630680372499
Option 1 ID : 6306801451290
Option 2 ID : 6306801451287
Option 3 ID : 6306801451289
Option 4 ID : 6306801451288

Status : Not Answered
Chosen Option : --

Q.25 एक अनुक्रम दिया गया है, जिसमें से एक पद लुप्त है। दिए गए विकल्पों में से वह सही विकल्प चुनिए, जो अनुक्रम
को पूरा करे ।
VSM, RME, NGW, JAO, ?

Ans 1. RNA

2. FUG

3. FMQ

4. QNR

Question ID : 630680372482
Option 1 ID : 6306801451219
Option 2 ID : 6306801451221
Option 3 ID : 6306801451220
Option 4 ID : 6306801451222

Status : Answered
Chosen Option : 2

Section : General Awareness
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Q.1 ओमप्रकाश मिठारवाल को किस खेल में अर्जुन पुरस्कार 2022 से सम्मानित किया गया?

Ans 1. कबड्डी

2. तैराकी

3. मुक्के बाज़ी

4. निशानेबाज़ी

Question ID : 630680372451
Option 1 ID : 6306801451098
Option 2 ID : 6306801451095
Option 3 ID : 6306801451097
Option 4 ID : 6306801451096

Status : Not Answered
Chosen Option : --

Q.2 2011 की जनगणना के  अनुसार, भारत के  ग्रामीण क्षेत्रों में स्त्री-पुरुष अनुपात (प्रति 1000 पुरुषों पर महिलाओं की
संख्या) _______ है।

Ans 1. 929

2. 949

3. 934

4. 943

Question ID : 630680372473
Option 1 ID : 6306801451183
Option 2 ID : 6306801451186
Option 3 ID : 6306801451184
Option 4 ID : 6306801451185

Status : Answered
Chosen Option : 4

Q.3 निम्नलिखित में से कौन सा कथन चोलों के  अभिलेखों में उल्लिखित करों के  सन्दर्भ में सही है?
I. चोलों ने विभिन्न प्रकार के  करों के  लिए 400 से अधिक शब्दों को सूचित किया है।
II. वेट्टी टैक्स नकद के  रूप में नहीं लिया जाता था।

Ans 1. के वल I

2. ना ही I ना ही II

3. I तथा II दोनों

4. के वल II

Question ID : 630680372463
Option 1 ID : 6306801451143
Option 2 ID : 6306801451146
Option 3 ID : 6306801451145
Option 4 ID : 6306801451144

Status : Not Answered
Chosen Option : --
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Q.4 इं डिया स्टेट ऑफ फॉरे स्ट रिपोर्ट 2021 के  अनुसार निम्नलिखित में से किस भारतीय राज्य के  क्षेत्र का अधिकतम
प्रतिशत वन हैं?

Ans 1. त्रिपुरा

2. मिज़ोरम

3. असम

4. मणिपुर

Question ID : 630680372471
Option 1 ID : 6306801451177
Option 2 ID : 6306801451176
Option 3 ID : 6306801451178
Option 4 ID : 6306801451175

Status : Answered
Chosen Option : 3

Q.5 निम्नलिखित में से कौन सा त्योहार छत्तीसगढ में मनाया जाता है?
I. कजरी
II. मड़ई

Ans 1. I तथा II दोनों

2. ना ही I ना ही II

3. के वल II

4. के वल I

Question ID : 630680372469
Option 1 ID : 6306801451169
Option 2 ID : 6306801451170
Option 3 ID : 6306801451168
Option 4 ID : 6306801451167

Status : Answered
Chosen Option : 1

Q.6 राष्ट्रीय आय को _______ के  रूप में व्यक्त किया जा सकता है।

Ans 1. बाजार मूल्यों पर एन.एन.पी. - (अप्रत्यक्ष कर + सब्सिडी)

2. बाजार मूल्यों पर एन.एन.पी. - (अप्रत्यक्ष कर - सब्सिडी)

3. बाजार मूल्यों पर एन.एन.पी. + (अप्रत्यक्ष कर - सब्सिडी)

4. बाजार मूल्य पर एन.एन.पी. + अप्रत्यक्ष कर

Question ID : 630680372457
Option 1 ID : 6306801451119
Option 2 ID : 6306801451121
Option 3 ID : 6306801451120
Option 4 ID : 6306801451122

Status : Not Answered
Chosen Option : --
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Q.7 शमसुद्दीन इल्तुतमिश ने निम्नलिखित में से किस काल में दिल्ली में शासन किया था?

Ans 1. 1290–1296

2. 1266–1287

3. 1296–1316

4. 1210–1236

Question ID : 630680372461
Option 1 ID : 6306801451137
Option 2 ID : 6306801451136
Option 3 ID : 6306801451138
Option 4 ID : 6306801451135

Status : Answered
Chosen Option : 3

Q.8 ओडिया भाषा के  संदर्भ में निम्नलिखित में से कौन सा कथन सही है?
I. यह द्रविड़ भाषा परिवार से संबंधित है।
II. इसे 1996 में 'शास्त्रीय भाषा' का दर्जा दिया गया था।

Ans 1. I तथा II दोनों

2. के वल I

3. के वल II

4. ना ही I ना ही II

Question ID : 630680372467
Option 1 ID : 6306801451161
Option 2 ID : 6306801451159
Option 3 ID : 6306801451160
Option 4 ID : 6306801451162

Status : Not Answered
Chosen Option : --

Q.9 निम्नलिखित में से कौन अलीगढ़ आंदोलन से जुड़े थे?

Ans 1. अब्दुल गफ्फार खाँ

2. सैय्यद अहमद खाँ

3. शौकत अली

4. मोहम्मद अली

Question ID : 630680372458
Option 1 ID : 6306801451125
Option 2 ID : 6306801451126
Option 3 ID : 6306801451124
Option 4 ID : 6306801451123

Status : Answered
Chosen Option : 1
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Q.10 कें द्रीय पत्तन, पोत परिपवहन और जलमार्ग मंत्रालय (MoPSW) द्वारा घोषित पंच कर्म संकल्प के  संदर्भ में
निम्नलिखित में से कौन सा कथन सही है?
I. दीनदयाल पोर्ट और वीओ चिदंबरनार पोर्ट, तूतीकोरिन को ग्रीन हाइड्रोजन हब के  रूप में विकसित किया
जाएगा।
II. MoPSW ग्रीन शिपिं ग को बढ़ावा देने के  लिए 30% वित्तीय सहायता प्रदान करे गा।

Ans 1. I तथा II दोनों

2. के वल II

3. ना ही I ना ही II

4. के वल I

Question ID : 630680372455
Option 1 ID : 6306801451113
Option 2 ID : 6306801451112
Option 3 ID : 6306801451114
Option 4 ID : 6306801451111

Status : Not Answered
Chosen Option : --

Q.11 निम्नलिखित में से कौन सा जंतु हॉर्मोन का एक उदाहरण है?
I. एड्रीनलीन
II. टेस्टेस्टेरॉन

Ans 1. I तथा II दोनों

2. के वल I

3. ना ही I ना ही II

4. के वल II

Question ID : 630680372475
Option 1 ID : 6306801451193
Option 2 ID : 6306801451191
Option 3 ID : 6306801451194
Option 4 ID : 6306801451192

Status : Answered
Chosen Option : 1

Q.12 यदि कम मूल्यों पर एक व्यक्ति x वस्तु की अधिक मात्रा खरीदने का इच्छु क है, तो मांग वक्र _______ होगा।

Ans 1. स्थिर

2. नीचे की ओर ढलवा

3. ऊपर की ओर ढलवा

4. अपरिभाषित

Question ID : 630680372456
Option 1 ID : 6306801451115
Option 2 ID : 6306801451118
Option 3 ID : 6306801451116
Option 4 ID : 6306801451117

Status : Answered
Chosen Option : 3
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Q.13 बुकर पुरस्कार जीतने वाले भारतीय उद्भव के  प्रथम व्यक्ति कौन हैं?

Ans 1. वी एस नायपॉल

2. किरण देसाई

3. सलमान रुश्दी

4. अरुं धति रॉय

Question ID : 630680372464
Option 1 ID : 6306801451150
Option 2 ID : 6306801451147
Option 3 ID : 6306801451149
Option 4 ID : 6306801451148

Status : Answered
Chosen Option : 4

Q.14 मॉर्निं ग फे स' उपन्यास के  लेखक कौन हैं?

Ans 1. मुल्कराज आनंद

2. अनिता देसाई

3. भबानी भट्टाचार्य

4. आर.के . नारायण

Question ID : 630680372465
Option 1 ID : 6306801451152
Option 2 ID : 6306801451151
Option 3 ID : 6306801451154
Option 4 ID : 6306801451153

Status : Not Answered
Chosen Option : --

Q.15 निम्नलिखित में से कौन से भारतीय तलवारबाज एशियाई फ़ें सिं ग चैम्पियनशिप में पदक जीतने वाले पहले खिलाड़ी
हैं?

Ans 1. गिशो निधि

2. तनीक्षा खत्री

3. कबिता देवी

4. भवानी देवी

Question ID : 630680372452
Option 1 ID : 6306801451099
Option 2 ID : 6306801451100
Option 3 ID : 6306801451102
Option 4 ID : 6306801451101

Status : Answered
Chosen Option : 4

Q.16 बाबर ने ______ में काबुल पर कब्ज़ा कर लिया था।

Ans 1. 1504

2. 1511

3. 1498

4. 1494

Question ID : 630680372462
Option 1 ID : 6306801451141
Option 2 ID : 6306801451142
Option 3 ID : 6306801451140
Option 4 ID : 6306801451139

Status : Not Answered
Chosen Option : --
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Q.17 सितंबर 2022 के , यू.जी.सी. के  दिशा-निर्देशों के  अनुसार, उच्च शिक्षण संस्थानों में विदेशी छात्रों के  लिए कितनी
अतिरिक्त प्रतिशत सिटे बनायी जा सकती हैं?

Ans 1. 30

2. 20

3. 25

4. 35

Question ID : 630680372454
Option 1 ID : 6306801451109
Option 2 ID : 6306801451107
Option 3 ID : 6306801451108
Option 4 ID : 6306801451110

Status : Answered
Chosen Option : 1

Q.18 आज़ाद भारत की अस्थायी सरकार की उद्घोषणा _______ ने की थी।

Ans 1. मदन मोहन मालवीय

2. सुभाष चंद्र बोस

3. जवाहर लाल नेहरू

4. बाल गंगाधर तिलक

Question ID : 630680372459
Option 1 ID : 6306801451127
Option 2 ID : 6306801451130
Option 3 ID : 6306801451128
Option 4 ID : 6306801451129

Status : Answered
Chosen Option : 3

Q.19 निम्नलिखित में से कौन सा कथन सही है?
I. पृथ्वी पर अंत: उष्ण कटिबंधीय अभिसरण क्षेत्र की स्थिति कभी नहीं बदलती।
II. अंत: उष्ण कटिबंधीय अभिसरण क्षेत्र की स्थिति सूर्य की आभासी गति के  साथ-साथ उत्तर या दक्षिण की ओर
खिसकता है।

Ans 1. I तथा II दोनों

2. के वल I

3. के वल II

4. ना ही I ना ही II

Question ID : 630680372472
Option 1 ID : 6306801451181
Option 2 ID : 6306801451179
Option 3 ID : 6306801451180
Option 4 ID : 6306801451182

Status : Not Answered
Chosen Option : --
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Q.20 अवध के  विलय के  संदर्भ में निम्नलिखित में से कौन सा कथन सही है?
I. 1801 में, अवध पर एक सहायक संधि थोपी गयी।
II. 1856 में, अंग्रेज़ों ने अवध को अपने कब्ज़े में ले लिया।

Ans 1. के वल II

2. I तथा II दोनों

3. के वल I

4. ना ही I ना ही II

Question ID : 630680372460
Option 1 ID : 6306801451132
Option 2 ID : 6306801451133
Option 3 ID : 6306801451131
Option 4 ID : 6306801451134

Status : Not Answered
Chosen Option : --

Q.21 निम्नलिखित में से किस कं पनी ने रक्त संग्रह ट्यूबों के  निर्माण के  लिए विश्व का पहला एकीकृ त मशीन ‘Husky –
Ichor’ स्थापित किया?

Ans 1. बायोकॉन लिमिटेड

2. सन फार्मास्युटिकल इंडस्ट्रीज लिमिटेड

3. सी.एम.एल. बायोटेक लिमिटेड

4. अरबिं दो फार्मा लिमिटेड

Question ID : 630680372453
Option 1 ID : 6306801451104
Option 2 ID : 6306801451106
Option 3 ID : 6306801451105
Option 4 ID : 6306801451103

Status : Not Answered
Chosen Option : --

Q.22 निम्नलिखित में से कौन सा त्योहार कन्नड़ नव वर्ष का प्रतीक है?

Ans 1. विषु

2. लोसर

3. उगादी

4. रोंगकर

Question ID : 630680372468
Option 1 ID : 6306801451165
Option 2 ID : 6306801451164
Option 3 ID : 6306801451163
Option 4 ID : 6306801451166

Status : Answered
Chosen Option : 3
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Q.23 भारत की सबसे बड़ी मीठे  पानी की झील _______ है।

Ans 1. चिल्का झील

2. सांभर झील

3. डल झील

4. वूलर झील

Question ID : 630680372470
Option 1 ID : 6306801451174
Option 2 ID : 6306801451171
Option 3 ID : 6306801451172
Option 4 ID : 6306801451173

Status : Answered
Chosen Option : 3

Q.24 जनगणना 2011 के  अनुसार, 2001-2011 के  दशक में हिं दू  धार्मिक समुदाय की जनसंख्या की वृद्धि दर _______
थी।

Ans 1. 15.5 प्रतिशत

2. 17.7 प्रतिशत

3. 16.8 प्रतिशत

4. 24.6 प्रतिशत

Question ID : 630680372474
Option 1 ID : 6306801451187
Option 2 ID : 6306801451189
Option 3 ID : 6306801451188
Option 4 ID : 6306801451190

Status : Answered
Chosen Option : 2

Q.25 जून 2022 तक किस स्थिति के  अनुसार, जून 2022 तक, _______ भाषाओं  को भारत में शास्त्रीय भाषाओं  का
दर्जा दिया गया है।

Ans 1. 6

2. 4

3. 9

4. 12

Question ID : 630680372466
Option 1 ID : 6306801451156
Option 2 ID : 6306801451155
Option 3 ID : 6306801451157
Option 4 ID : 6306801451158

Status : Answered
Chosen Option : 1

Section : Quantitative Aptitude (Basic Arithmetic Skill)
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Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372518
Option 1 ID : 6306801451365
Option 2 ID : 6306801451364
Option 3 ID : 6306801451363
Option 4 ID : 6306801451366

Status : Answered
Chosen Option : 2

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372506
Option 1 ID : 6306801451318
Option 2 ID : 6306801451316
Option 3 ID : 6306801451317
Option 4 ID : 6306801451315

Status : Not Answered
Chosen Option : --

Q.3

Ans
1. 

2. 

3. 

4. 

Question ID : 630680372512
Option 1 ID : 6306801451339
Option 2 ID : 6306801451341
Option 3 ID : 6306801451340
Option 4 ID : 6306801451342

Status : Answered
Chosen Option : 2
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Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372508
Option 1 ID : 6306801451326
Option 2 ID : 6306801451324
Option 3 ID : 6306801451325
Option 4 ID : 6306801451323

Status : Not Answered
Chosen Option : --

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372510
Option 1 ID : 6306801451333
Option 2 ID : 6306801451331
Option 3 ID : 6306801451332
Option 4 ID : 6306801451334

Status : Answered
Chosen Option : 2

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372521
Option 1 ID : 6306801451378
Option 2 ID : 6306801451376
Option 3 ID : 6306801451377
Option 4 ID : 6306801451375

Status : Not Answered
Chosen Option : --
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Q.7 समीकरण y= -5 का ग्राफ एक रे खा है जो होगी:

Ans
1. 

2. 

3. 

4. 

Question ID : 630680372517
Option 1 ID : 6306801451360
Option 2 ID : 6306801451361
Option 3 ID : 6306801451362
Option 4 ID : 6306801451359

Status : Not Answered
Chosen Option : --

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372525
Option 1 ID : 6306801451391
Option 2 ID : 6306801451392
Option 3 ID : 6306801451394
Option 4 ID : 6306801451393

Status : Answered
Chosen Option : 1

Q.9 यदि a : b = 3 : 4 है, तो 2a : 5b का मान क्या है?

Ans 1. 3 : 10

2. 4 : 11

3. 9 : 10

4. 5 : 8

Question ID : 630680372515
Option 1 ID : 6306801451351
Option 2 ID : 6306801451352
Option 3 ID : 6306801451354
Option 4 ID : 6306801451353

Status : Answered
Chosen Option : 1

 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372523
Option 1 ID : 6306801451385
Option 2 ID : 6306801451383
Option 3 ID : 6306801451384
Option 4 ID : 6306801451386

Status : Not Answered
Chosen Option : --

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372522
Option 1 ID : 6306801451382
Option 2 ID : 6306801451381
Option 3 ID : 6306801451380
Option 4 ID : 6306801451379

Status : Not Answered
Chosen Option : --

Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372511
Option 1 ID : 6306801451336
Option 2 ID : 6306801451338
Option 3 ID : 6306801451335
Option 4 ID : 6306801451337

Status : Not Answered
Chosen Option : --

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372509
Option 1 ID : 6306801451329
Option 2 ID : 6306801451328
Option 3 ID : 6306801451330
Option 4 ID : 6306801451327

Status : Not Answered
Chosen Option : --

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372519
Option 1 ID : 6306801451368
Option 2 ID : 6306801451367
Option 3 ID : 6306801451370
Option 4 ID : 6306801451369

Status : Not Answered
Chosen Option : --

Q.15 दो अभ्यर्थीयों C तथा D के  अंक 21 : 23 के  अनुपात में हैं। यदि C के  अंक 420 है, तो D के  अंक क्या होंगे?

Ans 1. 460

2. 400

3. 480

4. 490

Question ID : 630680372514
Option 1 ID : 6306801451349
Option 2 ID : 6306801451348
Option 3 ID : 6306801451347
Option 4 ID : 6306801451350

Status : Not Answered
Chosen Option : --

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372505
Option 1 ID : 6306801451312
Option 2 ID : 6306801451314
Option 3 ID : 6306801451311
Option 4 ID : 6306801451313

Status : Not Answered
Chosen Option : --

Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372504
Option 1 ID : 6306801451309
Option 2 ID : 6306801451307
Option 3 ID : 6306801451310
Option 4 ID : 6306801451308

Status : Not Answered
Chosen Option : --

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372520
Option 1 ID : 6306801451374
Option 2 ID : 6306801451372
Option 3 ID : 6306801451373
Option 4 ID : 6306801451371

Status : Not Answered
Chosen Option : --

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372503
Option 1 ID : 6306801451304
Option 2 ID : 6306801451303
Option 3 ID : 6306801451306
Option 4 ID : 6306801451305

Status : Not Answered
Chosen Option : --

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372516
Option 1 ID : 6306801451355
Option 2 ID : 6306801451358
Option 3 ID : 6306801451357
Option 4 ID : 6306801451356

Status : Not Answered
Chosen Option : --

Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372502
Option 1 ID : 6306801451299
Option 2 ID : 6306801451302
Option 3 ID : 6306801451300
Option 4 ID : 6306801451301

Status : Not Answered
Chosen Option : --

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372501
Option 1 ID : 6306801451296
Option 2 ID : 6306801451298
Option 3 ID : 6306801451297
Option 4 ID : 6306801451295

Status : Answered
Chosen Option : 1

Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372507
Option 1 ID : 6306801451320
Option 2 ID : 6306801451322
Option 3 ID : 6306801451319
Option 4 ID : 6306801451321

Status : Not Answered
Chosen Option : --

Q.24

Ans
1. 

2. 

3. 

4. 

Question ID : 630680372513
Option 1 ID : 6306801451343
Option 2 ID : 6306801451346
Option 3 ID : 6306801451345
Option 4 ID : 6306801451344

Status : Not Answered
Chosen Option : --

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.25

Ans
1. 

2. 

3. 

4. 

Question ID : 630680372524
Option 1 ID : 6306801451387
Option 2 ID : 6306801451389
Option 3 ID : 6306801451390
Option 4 ID : 6306801451388

Status : Not Answered
Chosen Option : --

Q.1 Choose the most logical order of the sentences from among the four given choices to
construct a coherent paragraph.

Schools are meant to be an institution where students learn and internalize the
importance of ethics. Ethics are a set of principles and values that govern our
behavior and help us differentiate between right and wrong.

A) By emphasizing civic education, encouraging community involvement, and
providing counseling services, schools can help students internalize the importance
of ethics and act accordingly in their daily lives.
B) In extreme cases, students are forging medical certificates to attend events or
activities of their interest. Such behavior is unacceptable and reflects a lack of respect
for the school's rules and regulations.
C) Students are provided with an environment where they realize that unethical
behavior would not go unpunished.
D) One of the most worrying trends in today’s time is the increasing number of
students playing truant. Students are skipping classes and loitering in shopping
complexes or associating with a bad crowd.

Ans 1. CDAB

2. BCAD

3. CDBA

4. ABCD

Question ID : 630680372434
Option 1 ID : 6306801451028
Option 2 ID : 6306801451030
Option 3 ID : 6306801451027
Option 4 ID : 6306801451029

Status : Not Answered
Chosen Option : --

Section : English Language (Basic Knowledge)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.2 The traffic was heavy _______ everyone trying to get home from work. There were
many impatient drivers.

Ans 1. with

2. while

3. at

4. on

Question ID : 630680372439
Option 1 ID : 6306801451050
Option 2 ID : 6306801451049
Option 3 ID : 6306801451047
Option 4 ID : 6306801451048

Status : Answered
Chosen Option : 4

Q.3 Choose the most appropriate one-word substitution for “Anything written in a letter
after it is signed”

Ans 1. Corrigendum

2. Postdiction

3. Postscript

4. Manuscript

Question ID : 630680372431
Option 1 ID : 6306801451017
Option 2 ID : 6306801451018
Option 3 ID : 6306801451015
Option 4 ID : 6306801451016

Status : Answered
Chosen Option : 1

Q.4 "Let's go catch a movie at the cinema! It's air-conditioned and the filmgoers aren't
supposed to speak loudly ____the show!"

Ans 1. during

2. after

3. then

4. before

Question ID : 630680372437
Option 1 ID : 6306801451041
Option 2 ID : 6306801451040
Option 3 ID : 6306801451039
Option 4 ID : 6306801451042

Status : Answered
Chosen Option : 1

 
         

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.5 Choose the answer below that spells the word in bold correctly:
Traveling abroad is a unique oportunity to broaden one's horizons and enrich one's
life. 

Ans 1. opportunity

2. opportuniety

3. oporrtunity

4. opporrtunity

Question ID : 630680372448
Option 1 ID : 6306801451084
Option 2 ID : 6306801451083
Option 3 ID : 6306801451086
Option 4 ID : 6306801451085

Status : Answered
Chosen Option : 1

Q.6 Choose the correct answer from below options that suits the below mentioned
question:
They didn’t____ us of the danger

Ans 1. warm

2. Warne

3. warn

4. worn

Question ID : 630680372450
Option 1 ID : 6306801451093
Option 2 ID : 6306801451092
Option 3 ID : 6306801451094
Option 4 ID : 6306801451091

Status : Answered
Chosen Option : 3

Q.7 Parts of the following sentence have been given as option that contains an error in
spelling. If you don’t find any error, mark “No error” as your answer.
Traveling to other countries is highly anticipeted and provides a firsthand experience
of different cultures and ways of life. 

Ans 1. Traveling

2. anticipeted

3. provides

4. No error

Question ID : 630680372447
Option 1 ID : 6306801451080
Option 2 ID : 6306801451079
Option 3 ID : 6306801451081
Option 4 ID : 6306801451082

Status : Answered
Chosen Option : 2

 
       

https://applink.adda247.com/d/XhqWf9lSap
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Q.8 Choose the most appropriate one-word substitution for "something which is of
outstanding significance”

Ans 1. Monumental

2. Ominous

3. Evident

4. Meaningful

Question ID : 630680372430
Option 1 ID : 6306801451013
Option 2 ID : 6306801451012
Option 3 ID : 6306801451014
Option 4 ID : 6306801451011

Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate option to complete the following sentence:
We’ve got a new computer in our office. That car____ to have broken down.

Ans 1. appearing

2. appeared

3. appears

4. appear

Question ID : 630680372442
Option 1 ID : 6306801451061
Option 2 ID : 6306801451059
Option 3 ID : 6306801451060
Option 4 ID : 6306801451062

Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate option that can substitute the underlined segment in the
given sentence. 
The pollution level is very high in our city and ______a health hazard.

Ans 1. Will be increasing

2. Has become

3. becomes

4. Are increasing

Question ID : 630680372433
Option 1 ID : 6306801451026
Option 2 ID : 6306801451025
Option 3 ID : 6306801451023
Option 4 ID : 6306801451024

Status : Answered
Chosen Option : 2

 
        

https://applink.adda247.com/d/XhqWf9lSap
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Q.11 Choose the most appropriate meaning of the below mentioned word:
Exorbitant

Ans 1. Enormous

2. Warranted

3. Inexpensive

4. Cheap

Question ID : 630680372446
Option 1 ID : 6306801451078
Option 2 ID : 6306801451076
Option 3 ID : 6306801451077
Option 4 ID : 6306801451075

Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate option to complete the following sentence:
Linda likes wearing ____ clothes.

Ans 1. colorfully

2. terribly

3. colorful

4. terrible

Question ID : 630680372440
Option 1 ID : 6306801451051
Option 2 ID : 6306801451053
Option 3 ID : 6306801451052
Option 4 ID : 6306801451054

Status : Answered
Chosen Option : 3

Q.13 Choose the most appropriate meaning of the below quoted idiom:
“Ring a bell”

Ans 1. Sounds strange

2. Sounds indifferent

3. Sounds familiar

4. Sounds interesting

Question ID : 630680372443
Option 1 ID : 6306801451063
Option 2 ID : 6306801451064
Option 3 ID : 6306801451065
Option 4 ID : 6306801451066

Status : Answered
Chosen Option : 1

 
        

https://applink.adda247.com/d/XhqWf9lSap
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Q.14 The reading culture must be_____ at a young age, and schools play a crucial role in
this regard. 

Ans 1. enhanced

2. installed

3. instilled

4. activated

Question ID : 630680372438
Option 1 ID : 6306801451046
Option 2 ID : 6306801451044
Option 3 ID : 6306801451043
Option 4 ID : 6306801451045

Status : Answered
Chosen Option : 1

Q.15 Choose the most logical order of the sentences from among the four given choices to
construct a coherent paragraph.
Science has played a significant role in detecting and proving crimes since the days of
Sherlock Holmes. Today, most police forces around the world use technology derived
from science to bring criminals to justice.
A) The efficiency of this system is greatly enhanced by cooperation with other
countries' crime information centers.
B) Traditional methods of detection, such as footprint and fingerprint casts, have been
greatly enhanced by scientific advancements.
C) Fingerprinting, which was invented by Francis Galton in Great Britain, has been
fundamental to detection for decades. Fingerprints are now held on computers, and
information can be exchanged instantly throughout the country.
D) Records of convicted criminals are now held on microfilm and as computer data,
which can be instantly retrieved and made available overseas. DNA printing has
recently revolutionized the process of bringing criminals to justice and establishing
paternity.

Ans 1. ADCB

2. BCAD

3. CADB

4. BACD

Question ID : 630680372435
Option 1 ID : 6306801451034
Option 2 ID : 6306801451032
Option 3 ID : 6306801451031
Option 4 ID : 6306801451033

Status : Not Answered
Chosen Option : --

Q.16 Choose the most appropriate meaning of the below mentioned word:
Acclaimed

Ans 1. Criticized

2. Applauded

3. Blamed

4. Slammed

Question ID : 630680372445
Option 1 ID : 6306801451072
Option 2 ID : 6306801451074
Option 3 ID : 6306801451073
Option 4 ID : 6306801451071

Status : Answered
Chosen Option : 2

 
           

https://applink.adda247.com/d/XhqWf9lSap
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Q.17 Mother and I decided to have a picnic. It was a sunny day, perfect ____ a picnic.
Ans 1. with

2. into

3. for

4. have

Question ID : 630680372436
Option 1 ID : 6306801451035
Option 2 ID : 6306801451036
Option 3 ID : 6306801451037
Option 4 ID : 6306801451038

Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate option to complete the following sentence:
I’ve never been to Iceland but I’d like _____ there.

Ans 1. went

2. to go

3. did go

4. gone

Question ID : 630680372441
Option 1 ID : 6306801451055
Option 2 ID : 6306801451057
Option 3 ID : 6306801451056
Option 4 ID : 6306801451058

Status : Answered
Chosen Option : 2

Q.19 Choose the correct answer from below options that suits the below mentioned
question:
The contractors ____ the company for travel expenses.

Ans 1. billed

2. bile

3. built

4. build

Question ID : 630680372449
Option 1 ID : 6306801451089
Option 2 ID : 6306801451090
Option 3 ID : 6306801451087
Option 4 ID : 6306801451088

Status : Answered
Chosen Option : 1

 
        

https://applink.adda247.com/d/XhqWf9lSap
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Q.20 Select the most appropriate option that can substitute the underlined segment in the
given sentence. 
I am been working here for the past ten years.

Ans 1. is been working

2. was been working

3. will be working

4. have been working

Question ID : 630680372432
Option 1 ID : 6306801451020
Option 2 ID : 6306801451021
Option 3 ID : 6306801451019
Option 4 ID : 6306801451022

Status : Answered
Chosen Option : 4

Q.21 Choose the most appropriate meaning of the below quoted idiom:
“All ears”

Ans 1. To avoid someone

2. Good at small talks

3. Not paying heed to someone while they talk

4. Eager to listen to what someone has to say

Question ID : 630680372444
Option 1 ID : 6306801451068
Option 2 ID : 6306801451069
Option 3 ID : 6306801451067
Option 4 ID : 6306801451070

Status : Answered
Chosen Option : 4

         

https://applink.adda247.com/d/XhqWf9lSap
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Comprehension:
Read the following passage and answer the given questions:
Scientific research is the systematic and structured process of discovering new facts and
uncovering their relationships to other facts. The importance of scientific research can be
traced back to the ancient times when medicine was in its early stages, and major operations
were similar to death warrants. It was only when men began to observe nature closely, with
open minds, and conduct experiments that they started making significant strides in various
fields, such as medicine and chemistry.

Curiosity is the driving force behind scientific research. It motivates individuals to observe
nature closely and record what they observe. To be an experimenter, one must have a well-
thought-out plan of attack, but also be open-minded and an opportunist who can change the
plan to meet unexpected situations as they arise. One must seek facts regardless of whether
they may lead him.

One of the key traits of a successful experimenter is intellectual honesty. It is essential to
record all observations, including unexpected results, and not explain them away. Some of
the greatest discoveries in history have come from irregular results, which were not rejected
but further investigated. Scientific research requires patience, perseverance, ingenuity,
originality, commonsense, and the urge to take infinite pains. The joy of having created
something is the more than compensating reward for every determined rise above failure
while experimenting. For every painstaking effort put into research, there is the reward of
contributing to the honor of one's country and the progress of the world. The great events of
history are its great scientific discoveries, which have led to the prosperity of nations and the
source of all progress.

In conclusion, scientific research is vital to the growth and development of society. Without
scientific research, there would be no progress, and we would still be living in a primitive age.
The world needs people who are intellectually honest, enthusiastic, persevering, curious, and
possess the power of observation to induce nature to reveal her secret ways of working.
Scientific research is not just a job; it is a sport, and those who engage in it have the
opportunity to contribute to the progress of the world and experience the joy of discovery.

SubQuestion No : 22
Q.22 Identify the suitable title for the passage
Ans 1. Science - Growth and development of society

2. The Significance of Scientific Research

3. Medicine & chemistry

4. The joy of discovery

Question ID : 630680372427
Option 1 ID : 6306801451001
Option 2 ID : 6306801451000
Option 3 ID : 6306801450999
Option 4 ID : 6306801451002

Status : Answered
Chosen Option : 2
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Comprehension:
Read the following passage and answer the given questions:
Scientific research is the systematic and structured process of discovering new facts and
uncovering their relationships to other facts. The importance of scientific research can be
traced back to the ancient times when medicine was in its early stages, and major operations
were similar to death warrants. It was only when men began to observe nature closely, with
open minds, and conduct experiments that they started making significant strides in various
fields, such as medicine and chemistry.

Curiosity is the driving force behind scientific research. It motivates individuals to observe
nature closely and record what they observe. To be an experimenter, one must have a well-
thought-out plan of attack, but also be open-minded and an opportunist who can change the
plan to meet unexpected situations as they arise. One must seek facts regardless of whether
they may lead him.

One of the key traits of a successful experimenter is intellectual honesty. It is essential to
record all observations, including unexpected results, and not explain them away. Some of
the greatest discoveries in history have come from irregular results, which were not rejected
but further investigated. Scientific research requires patience, perseverance, ingenuity,
originality, commonsense, and the urge to take infinite pains. The joy of having created
something is the more than compensating reward for every determined rise above failure
while experimenting. For every painstaking effort put into research, there is the reward of
contributing to the honor of one's country and the progress of the world. The great events of
history are its great scientific discoveries, which have led to the prosperity of nations and the
source of all progress.

In conclusion, scientific research is vital to the growth and development of society. Without
scientific research, there would be no progress, and we would still be living in a primitive age.
The world needs people who are intellectually honest, enthusiastic, persevering, curious, and
possess the power of observation to induce nature to reveal her secret ways of working.
Scientific research is not just a job; it is a sport, and those who engage in it have the
opportunity to contribute to the progress of the world and experience the joy of discovery.

SubQuestion No : 23
Q.23 Identify the central theme of the passage
Ans 1. One of the key traits of a successful experimenter is intellectual honesty

2. Some of the greatest discoveries in history have come from irregular results, which
were not rejected but further investigated.

3. scientific research is vital to the growth and development of society. It is not just a
job; it is a sport, and those who engage in it have the opportunity to contribute to the progress
of the world and experience the joy of discovery.

4. For every painstaking effort put into research, there is the reward of contributing to
the honor of one's country and the progress of the world.

Question ID : 630680372426
Option 1 ID : 6306801450997
Option 2 ID : 6306801450995
Option 3 ID : 6306801450998
Option 4 ID : 6306801450996

Status : Answered
Chosen Option : 3
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Comprehension:
Read the following passage and answer the given questions:
Scientific research is the systematic and structured process of discovering new facts and
uncovering their relationships to other facts. The importance of scientific research can be
traced back to the ancient times when medicine was in its early stages, and major operations
were similar to death warrants. It was only when men began to observe nature closely, with
open minds, and conduct experiments that they started making significant strides in various
fields, such as medicine and chemistry.

Curiosity is the driving force behind scientific research. It motivates individuals to observe
nature closely and record what they observe. To be an experimenter, one must have a well-
thought-out plan of attack, but also be open-minded and an opportunist who can change the
plan to meet unexpected situations as they arise. One must seek facts regardless of whether
they may lead him.

One of the key traits of a successful experimenter is intellectual honesty. It is essential to
record all observations, including unexpected results, and not explain them away. Some of
the greatest discoveries in history have come from irregular results, which were not rejected
but further investigated. Scientific research requires patience, perseverance, ingenuity,
originality, commonsense, and the urge to take infinite pains. The joy of having created
something is the more than compensating reward for every determined rise above failure
while experimenting. For every painstaking effort put into research, there is the reward of
contributing to the honor of one's country and the progress of the world. The great events of
history are its great scientific discoveries, which have led to the prosperity of nations and the
source of all progress.

In conclusion, scientific research is vital to the growth and development of society. Without
scientific research, there would be no progress, and we would still be living in a primitive age.
The world needs people who are intellectually honest, enthusiastic, persevering, curious, and
possess the power of observation to induce nature to reveal her secret ways of working.
Scientific research is not just a job; it is a sport, and those who engage in it have the
opportunity to contribute to the progress of the world and experience the joy of discovery.

SubQuestion No : 24
Q.24 What is the meaning of “Curiosity”?
Ans 1. disregard

2. Unconcern

3. Indifference

4. Interest

Question ID : 630680372428
Option 1 ID : 6306801451004
Option 2 ID : 6306801451006
Option 3 ID : 6306801451003
Option 4 ID : 6306801451005

Status : Answered
Chosen Option : 4
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Comprehension:
Read the following passage and answer the given questions:
Scientific research is the systematic and structured process of discovering new facts and
uncovering their relationships to other facts. The importance of scientific research can be
traced back to the ancient times when medicine was in its early stages, and major operations
were similar to death warrants. It was only when men began to observe nature closely, with
open minds, and conduct experiments that they started making significant strides in various
fields, such as medicine and chemistry.

Curiosity is the driving force behind scientific research. It motivates individuals to observe
nature closely and record what they observe. To be an experimenter, one must have a well-
thought-out plan of attack, but also be open-minded and an opportunist who can change the
plan to meet unexpected situations as they arise. One must seek facts regardless of whether
they may lead him.

One of the key traits of a successful experimenter is intellectual honesty. It is essential to
record all observations, including unexpected results, and not explain them away. Some of
the greatest discoveries in history have come from irregular results, which were not rejected
but further investigated. Scientific research requires patience, perseverance, ingenuity,
originality, commonsense, and the urge to take infinite pains. The joy of having created
something is the more than compensating reward for every determined rise above failure
while experimenting. For every painstaking effort put into research, there is the reward of
contributing to the honor of one's country and the progress of the world. The great events of
history are its great scientific discoveries, which have led to the prosperity of nations and the
source of all progress.

In conclusion, scientific research is vital to the growth and development of society. Without
scientific research, there would be no progress, and we would still be living in a primitive age.
The world needs people who are intellectually honest, enthusiastic, persevering, curious, and
possess the power of observation to induce nature to reveal her secret ways of working.
Scientific research is not just a job; it is a sport, and those who engage in it have the
opportunity to contribute to the progress of the world and experience the joy of discovery.

SubQuestion No : 25
Q.25 Identify the inferences drawn from the passage<
Ans 1. Scientific research is vital to the growth and development of society. Without scientific

research, there would be no progress, and we would still be living in a primitive age.

2. Scientific research takes away the beauty of nature and doesn’t contribute to the
progress of the world and experience the joy of discovery.

3. Some of the greatest discoveries in history have come from irregular results, which
were not rejected but further investigated.

4. The world does not need people who are intellectually honest, enthusiastic,
persevering, curious, and possess the power of observation so that they could not disturb the
nature.

Question ID : 630680372429
Option 1 ID : 6306801451009
Option 2 ID : 6306801451010
Option 3 ID : 6306801451007
Option 4 ID : 6306801451008

Status : Answered
Chosen Option : 1
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